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1. Estimation of Coriolis Acceleration
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Fig.1 Illustration of reference frame and vectors
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where, 
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is called the Coriolis acceleration.

2. Constant Coriolis Acceleration

When the Coriolis acceleration is constant along the latitude then it’s very simple to estimate a distance, xc, in direction of longitude. At first, the acceleration can be obtained by referring Fig.2. The acceleration, velocity and distance in direction of longitude in this case are obtained as follows,
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Fig.2 Decomposition of initial velocity

In next case, when the Coriolis acceleration is variant one along the latitude then as following figure, an acceleration function of time t can be estimated.
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Fig.3 Estimation of Angle, function of time

Angle φ(t), function of time, can be obtained.
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The acceleration and distance, xv, in direction of longitude are obtained as follows,
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3. Distance in Direction of Latitude
A distance in direction of latitude can be simply obtained as follows,
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4. Case1, Shot Shooting
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Shot Shooting
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5. Case2, Bowling
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6. Case3, Baseball
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Spending Time :

[sec]

0.44 mm

Start Latitude : 30 deg. [N]

Initial Speed of Ball: 120 km/h

Time : from 0 sec to 0.6 sec

Constant Acceleration

0.006

0.072

0.138

0.204

0.27

0.336

0.402

0.468

0.534

0.6



































_1056477632.unknown

_1056482695.unknown

_1056485265.unknown

_1056485289.unknown

_1056485303.unknown

_1056483294.unknown

_1056483869.unknown

_1056482907.unknown

_1056477966.unknown

_1056478140.unknown

_1056477965.unknown

_1056477220.unknown

_1056477484.unknown

_1056477097.unknown

